SETFEE - FEIRESEHEEE—H

ZEE Z R
OSREI X (B4 A) ORI X (B4 : A)
R5 R5
1= 3= 12 3=
25 . 25
HEHRE | REVE 1-25% 0i% HERLE | REVE 1-27% 07%
OEFIRAEEMREL OWEFIFAEEHE
o) 92 80 167 164 56 povisiiel 92 80 167 164 56
OFEIRTTER (1R4tAs)) 327 135 170 64 QMR (ReAH) 321 141 188 61
QBERE (@-0) 155 A 32 6 8 QBETE (@-0) 149 A 26 24 5
D iiing Y Y ORBAFE - -
(D+ SBEERIRER) 81% 62% (O+ LHEMRER) 81% 62%
R6 R6
1= 3= 12 3=
25 . 25
HEHRE | REVE 1-25% 0i% HERLE | REVE 1-27% 07%
OEFIRAEEMREL OWEFIFAEEHE
o 92 81 166 163 56 povissiiel 92 81 166 163 56
OFEIRTTER (1R4tAH)) 327 135 170 64 QMR (ReAH) 321 141 188 61
QBERE (@-0) 154 A 31 7 8 QBRE (@-0) 148 A 25 25 5
D iiing Y Y OREAFE - -
(©+ HEEFIRER) B2%| 3% (O U IHREL) 82%|  63%
@IUARR X (BEAL: A) @LUABTXs,  (BEfiL @ A)
R5 R5
15 35 15 35
. 25 _ 25
BEHRE | REVE 1-27% (077 BEFE | REVE 1:27% 07%
®;Z\%f']ﬁﬁ£ﬁ% 9 0 % 59 18 ®:§%ﬂﬁﬁma$ﬁc\§i 9 24 72 59 18
(B20RIAH) (BORIAH)
OWEFRFR (ReMAH) 30 122 82 18 QMR (RAHI) 30 122 82 18
QBAE (@-@) 21 26 23 0 QBRE (@-0) A3 50 23 0
ORBRREE . . @RBEFIRE . .
(D+ MERITES) 79% >0% (D + YEERIRES) 79% >0%
R6 R6
15 35 15 35
. 25 _ 25
BEHRL | REVE 1-27% 0% BEFE | REVE 1:27% 07%
= eer—prre = =
@;Z%ﬂﬁﬁiﬁffuyﬂ 10 0 97 58 17 ®;Z§\%'Jﬁﬁn’:§‘ﬁ £ 10 25 72 58 17
(BORIAH) (BORIAH)
OWEFRFR (ReMAH) 30 122 82 18 QMR (RtAH) 30 122 82 18
GBERE (@-0) 20 25 24 1 OBFE (@-0) A5 50 24 1
@REFIAZR o o @RBEFIAZR o o
(D= SBEFRITER) 78% 49% (O+ HZEMRIBER) 78% 49%




Q=FFHIXi% (HEfI: A) @=FFHTXI% (B : A)
R5 R5
15 35 15 35
. 25 _ 25
BEHRE | REVE 1-27% (077 BEFE | REVE 1:27% 07%
?;‘;igg’fiﬁ%ﬁ 52 52 91 101 30 ?;‘;iiﬂimﬁ%ﬁ 52 52 91 101 30
= §==1
OWEARAEE (Rt 210 70 95 33 OWEARER (RHHAH) 210 70 94 33
GBARE (@-0) 106| A 21 A6 3 OBARE (@-0) 106| A 21 A7 3
@REFIAR o o @RBEFIAZR o o
(D+ MERITES) 7% >1% (D + YEERIRES) 77% >1%
R6 R6
15 35 15 35
. 25 _ 25
BEHRE | REVE 1-27% (077 BEFHE | REVE 1:27% 07%
OEBFBERIA 59 55 98| 100 30 DEBRBEREA 59 55 98| 100 30
==1 §==1
OWEARAEE (Rt 210 70 95 33 OWEARER (RHtAH) 210 70 94 33
QBRE (@-0) 96 A 28 AS 3 CBRE (@-0) 96 A 28 A6 3
@REFIAR o o @RBEFIAZR o o
(D+ MERITES) 79% >3% (@ + YEERIRES) 79% >3%
@SrhEXiE  (BEfAL: A) @SrhET X (B4 : A)
R5 R5
1= 3= 1= 3=
> 25 - 2=
HEHRE | REVE 1-25% 0i% HERLE | REVE 1-27% 07%
OEFIRAEEMREL OWEFIRTE B
o 59 181 25 127 36 povisiiel 59 181 25 127 41
QFERER (1R4teAHI) 270 30 144 37 QOFERAR (1R4teAH) 270 44 164 43
QBEARE (@-0) 30 5 17 1 QGBAE (@-@) 30 19 37 2
D iiing Y Y ORBAFE - -
(O MEEFERER) 8% 6% (@+ HERERBER 78%|  52%
R6 R6
1= 3= 1= 3=
= 25 = 25
HEHRE | REVE 1-25% 0i% HERLE | REVE 1-27% 07%
OEFIRAEEMREL OWEFIRTE B
o 51 176 18 126 36 povisiiel 51 176 18 126 41
QFERER (1R4teAHI) 270 30 144 37 QOFERAR (1=4teAH) 270 44 164 43
QBEARE (@-0) 43 12 18 1 QBAE (@-@) 43 26 38 2
D iiing Y Y ORBAFTE - -
(D+ SBEERIRER) 79% 47% (O+ LEMIRER) 79% 53%




Of_EHXiE (B : A) ©{_EHEXIE (B4 : A)
R5 R5
15 35 15 35
- 28 - 28
BEHRE | REVE 1-27% (077 BEFE | REVE 1:27% 07%
@fg‘ﬂ FTESHRE 4 0 77 38 10 ®f\%flﬂﬂmaﬁﬁ.ﬁ§i 4 59 18 38 10
(B20RIAH) (BORIAH)
OWEFRFR (ReMAH) 35 75 50 10 QTR (R4HaH) 95 40 40 10
OBERE (@-0) 31 A2 12 0 QBEARE (@-0) 32 22 2 0
@REFIAR o o @RBEFIAZR o o
(D+ MERITES) 84% >3% (D + YEERIRES) 84% >3%
R6 R6
15 35 15 35
- 28 - 28
BEHRE | REVE 1-27% (07 BEFHE | REVE 1:27% 07%
®;Z\%f']ﬁﬁ£ﬁ% 3 0 71 37 10 ®iﬁ\%ﬂﬁﬁmaiﬁﬁc\§i 3 56 15 37 10
(B20RIAH) (BORIAH)
QOWEFRIR (ReMAH) 35 75 50 10 QTR (R4HaH) 95 40 40 10
QBEARE (@-©) 32 4 13 0 OBARRE (@-@) 36 25 3 0
@RBEFIAZR o o @RBEFIAZR o o
(D+ MERITES) 82% >6% (@ + YEERIRES) 82% 6%
@HFHEETXIE  (BEfAL: A) @BAHEETXIE (B4 : A)
R5 R5
1= 3= 12 3=
> 25 - 2=
HEHRE | REVE 1-25% 0i% HERLE | REVE 1-27% 07%
~ eer—prre- > T
@;Z Efﬂﬁﬁiﬁhaﬂ 17 0 a1 27 9 ®;Z E‘%Uﬁﬁmﬁfﬁ 2 17 31 10 27 9
(BORIAH) (BORIAH)
OFEIRTTER (Ritrs) 15 60 40 10 OWEIRSE (rptas) 80 20 40 10
OBRE (@-0) A2 19 13 1 GBARE (2-0) 32 10 13 1
D iiing Y Y ORBAFE - -
(D+ SBEERIRER) 79% >6% (O+ LEMIRER) 79% 6%
R6 R6
1= 3= 12 3=
= 25 = 25
HEHRE | REVE 1-25% 0i% HERLE | REVE 1-27% 07%
~ eer—prre- > T
@;Z Efﬂﬁﬁiﬁhaﬂ 15 0 36 27 9 ®;Z E‘%Uﬁﬁmﬁfﬁ 2 15 29 7 27 9
(BORIAH) (BORIAH)
OFEIRTTER (Ritrs) 15 60 40 10 QWIS GRptaH) 80 20 40 10
QBARRE (@-O) 0 24 13 1 QB E (@-0) 36 13 13 1
@REF AR 84% 56% @REFIAR 84% 56%

(D+LEFHIEELR)

(D+ HZFIRIEER)




